BFA—TH5X

AZRavY 1 2 3 R R JE AL
1T N\& # BSSAABEKTS 65 62 2-0 1
2 | B FEKEB 7')— 56 16 0-2 3
3| HiE RA inspired 26 61 1-1 2
BJAvY 4 5 6 304 I3z
4 | HZE RBR ITSHM 61 65 2-0 1
5 | R BAZ i=DZ ey 16 64 1-1 2
6 | ARk T=ADIVO 56 46 0-2 3
cavy 7 8 9 304 I3z
7| N OB— ITSHM 60 61 2-0 1
8 | Rt 1EE XE 06 64 1-1 2
9 | FHK X J struct 16 46 0-2 3
D7OvY 10 11 12 R AR & sz
10| HE #is T RRMEHEF 60 60 2-0 1
" HE B— N\E—TC 06 16 0-2 3
12| F MR HH#TC 06 61 1-1 2
EJOvY 13 14 15 R AR & sz
13| # % ITS LM 61 64 2-0 1
14| HE AR \YE—TC 16 16 0-2 3
15| AR W& BSSARBXKTS 46 61 1-1 2
Fovy 16 17 18 fER B sz
16 | & BF HEDFHF 62 60 2-0 1
17 BK &£& ITS LM 26 06 0-2 3
18| Xk# BA pyon’s 06 60 1-1 2
G7Avy 19 20 21 AR IE sz
19 [ K& F=XH BOPEMET 64 64 2-0 1
20| &R § gRvEAD 46 64 1-1 2
21 | KT #3 T RIMEHEF 46 46 0-2 3
HZOvY 22 23 24 R B sz
22 [ FNI A ITSHM 61 56 1-1 2
23| BE HH# xXE 16 16 0-2 3
24 | B Bk <= 65 61 2-0 1




Al

B1

C1

D1

E1

F1

G1

H1

A2

B2

C2

D2

E2

F2

G2

H2

A3

B3

C3

D3

E3

F3

G3

H3

NEBLAI b—F A+

141

Ne&

A

INEP

K&

B

24
hiE

2

2R

EPN:]

Bk

=)

R BE

¥t

EE3

& R

B

K3

&R

TN

3z

B

AR

i
S

n&

BA

18

~E

AR

o

p3ik )

£

= B

1R SF
Aza
62
oE
62
oE
] 64
M
62
H
63
Kén
63
1R SF
g
60
g
60
=
] 64
kH
62
kH
63
E
61
1R SF
AR
wo
AR
63
HE
61
BK
61
AT
63
AT
64

51 RET

hiE

65

AT

62



BFCDYSR

AJoyy 1 2 3 A B
1| FW Bz BSSAA B * 61 16 1-1 2
2 | KE B NYE—TC 16 06 0-2 3
3 | B4 EfT oAk 61 60 2-0 1
BJOvY 4 5 6 R =i
4 | sl = 71— 56 46 0-2 3
5 | £ A8 ABKAEE 65 61 2-0 1
6 | 25 5% RFco57 64 16 1-1 2
cJovsy 7 8 9 308 =i
7| BH EX oAy 63 60 2-0 1
8 | TR Ex 7— 36 36 0-2 3
9 | Pk KE HoIE 06 63 1-1 2
D7Ovs 10 11 12 308 =i
10 | $R3F BE5h Y- 63 36 1-1 2
11| ER EF RFbo357 36 36 0-2 3
12| XB # FD.K 63 63 2-0 1
EZAvY 13 14 15 R [
13| B0 %8 FOAE 56 56 0-2 3
14| R# KEB RSTC 65 56 1-1 2
15 | &l BER 7— 65 65 2-0 1
F7RvyH 16 17 18 R [
16| X Faix 61 65 2-0 1
17| Bim #* RFb957 16 36 0-2 3
18| # B Y- 56 63 1-1 2




Al

B1

C1

D1

E1

F1

A2

B2

C2

D2

E2

F2

A3

B3

C3

D3

E3

F3

B Bl b —F A2k

14z

Fer BT

£ A

afF B

24

Al Bz

#EH EF

Rk K&

W3t Bk

RA KER

"

tc1iva

KB BES

B0 %EA

B =

1R SF
524
&% 63
64
x5
75 x5
61
1R SF
A
25 65
64
AR
65 A&t
64
1R SF
TR
f‘i WO
65
EH
wo EH
63

Fa
64

A

65

1R

62



BF50FLLE

AJOvy 1 2 3 4 R IIE L
1| R BEA T7AVEILR 60 61 2-0 2
2 | i B Btk 06 46 0-2 3
3 | B’ B FOoix 16 36 0-2 4
4 | A EAY RFbo357 64 63 2-0 1
B7Ov% 5 6 7 B IE
5 | Ak K— RI5— 60 46 1-1 2
6 | fiE = FoOA% 06 16 0-2 3
7| R \Zcat 64 61 2-0 1
I#E&i;llﬁ;—d-}‘/h
Al AKIL B E— R
B2 ififE A— — 1 -
A2 $EE BA — 63
Bl i % — 8
343
A3 EFE EifE
A4 N BERL — @ %
B3 ME = — %
BFeor Lk
AZOvy 1 2 3 5B (s
1| 54X XE5H T7AVEILR 61 61 2-0 1
2 | MHE RE Faix 16 56 0-2 3
3 | FRII & A—LJLTC 16 65 1-1 2
BJOvY 4 5 6 RSB B4
4 | AL EX 7— 64 63 2-0 1
5 A B FoAx 46 64 1-1 2
6 [ Rk & FoAx 36 46 0-2 3
I%E&Ezllﬁli—d-%‘/h
Al EX EES — ] ux
B2 HO & — 1 00 ok
A2 HRJII 3B — 60
Bl Ml X — 1
3L
A3 WE RE —7 %xx
B3 Rk & E— we




ZFCDYUSR

AJavy 1 2 3 4 R BR [:3iva
1| Rk IEF INX)L 63 60 2-0 1
2 | INR BEF 21)— 36 26 0-2 4
3| Brx =F FOrx 06 26 0-2 3
4 | &N 8hZE TJ74VEILR 62 62 2-0 2
B AvY 5 6 7 R BR [[:3iva
5 | KR X J1)— 61 26 1-1 2
6 | Bare x85F | 7Y— 16 46 0-2 3
7| BE HBX FOoAx 62 64 2-0 1
JEAL A b—F Ak
14612431
Al K —_ .
xRk EF Sk
P 60
B2 TKE X —_— -
Rk
A2 ER E —
Hik
BI X% mz — 1 e
3f3 - 441
A3 BF4a = _
e =+ B &
BYE — |
LS g1
_ 62
A4 R —_
INE BEF B4 e
B3 $ale £87F — 1 we




